EARAROBEEIERT — 2 N— IBISH —F

20145F3827H (K) 21E£R3A

m C1—6 C16 5% B R
[AE£] 1%&:170,000  ~ 2% :34,000”  33%&:1500 M . 43%&:11,000 " 53 :6,000 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N MAHIES] :39. -1-1- . — EHEE (£R)
1 6 24X TELTY — 4 4 o 1(3_9)4 1-1-1-1 | 40.9 2 :9;) st
L:gAFT v ML BT ERT RN RS EVN)—h—ZX52F
o9 HEZ :40. —-3-2- . — SERE (2R
ol7lg| b A1 —a H o4 e 1?483 3-32-2 | 41.5 3 322) el
R:TFNTFY B:bvhI—T U5 & V)4
— s RN s 4 | BEMBAA 1:40.4 3-5-4-3 |41.2| — 8 445 | BEHZMH (2R)
3|79 |FTT¥AV—~> 54.0 (172) (o |UTEE
xR ThANAN BHF-F K77 F Bm
o = ey = REHE : -8-7- — HiEg—t (£R)
4 417 TAT XA TF s O 56.0 (12'410/'2% 10875 1 40.9 ! ?_477) IS !
R:TFATL X214 L B:T70IA4%55 BEMHEEGEN RRWS
= BREBA My 41, —-8-9- . — Hig—t (£R)
5 3 FLIqAYY— 4 4 o 1 (451) 9 8-8-9-7 | 41.5 9 :51325) i
L:¥xrinMOo— B:FLIA%55 BEHEEGEN RRWS
= WA 142, -10-10- . — 2B (£R)
sl1l1|an57UF i 5 513{3 1(442)7 9-10-10-10 | 42.1 6 (4_434) g)lliz
AL T7AT7 B:vVUIFITH [z =y
3 : B4 | EERE 1:42.7 2-2-2-4 |44.0| — 1 455 | B (23R)
7/8[10 SAA 54.0 (75%) 1) | BAEE
:trsn7aqd B:nFHhtvian i &R
o4 | BAK— 1:43.0 6-6-6-8 |43.3| — 5 435 | EHELE (£R)
g|8[11| IAET=F 5.0 (1 1/2) Co |Wimmz
RO—TXA AL B:RAZTYU—F EvilLyRT7—L
o O - 4 4 | BIURF 1:43.5 3-4-4-6 | 44.3| — 4 484 | BASF (£R)
9|5|5|EaT7TRYYLA 54.0 @ 1/2) 4o | ERIIER
ot/ BIL Iy —KR =Y Tr—LA
. > 4 5 | HED 1:43.6 7-7-8-9 | 43.4| — 11 456 | B (£R)
1wy 7|7~V I7 - 54.0 (78) o | @ A-z57
XN T ZXF— BEAXTYRT 1 — BAT7— L
S 5 4 10 | JIIBABA 1:53.0 11-11-11-11{ 46.9 | — 10 | 433 |#EF (£R)
12| v77%72k 56.0 (544) (o5 | ) 77—2REVa>
LHISrAY Lt — BiHISe—O— i sk
® I —F—@EBIERL
13—7+— 6,10,(5,8,9),11,7,3,1,4,2
2= = 6,10,8,5,9,11,7,(3,4) ,1,2
Jol=5r= 6,(8,10),(5,9),11,4,7,3,1,2
40—+ — 6,8,9,10,4,5,3,11,7,1,2
[ N3
BB 6 480H 714K 6-8 400M % E 6-7 750 3EHE 6-8-9 6,660/
8 B 6 200M 6-9 1,700H B 6-7 1,550/ K31 6-8-9 19,340
8 200M 8-9 1,970 B E 6-8 990M
9 1,130 B H 6-8 1,740

ABICOVWTRDTEEERROODE. TR LIV,



